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Stoichiometry
Directions:  Solve each of the following problems. Where appropriate, round to two decimal places. Show your work, including proper units, to earn full credit.

1.  Given the balanced equation, show what the following molar ratios



(i.e., the conversion factors) should be. Include units in all terms.

2 C4H10 + 13 O2 ( 8 CO2 + 10 H2O

a. C4H10 / O2

b. O2 / CO2
      c. O2 / H2O
  
d. C4H10 / CO2

e. C4H10 / H2O

2.  How many moles of oxygen are made if 12.0 moles of potassium chlorate react?
2 KClO3 ( 2 KCl + 3 O2
Q3 involves the reaction: Copper(II) chloride reacts w/sodium nitrate to produce copper(II) nitrate and sodium chloride.

3A.  Write the balanced equation

for the reaction.

3B.  If 20.0 g of copper(II) chloride react with 20.0 g of sodium nitrate, what mass of sodium chloride is formed?

3C. 
How many moles of copper(II) nitrate are formed?

4A. How many grams of potassium chloride are produced from…


2 K + Cl2 ( 2 KCl

…2.50 g of potassium?

4B. 
…1.00 g of chlorine?

5A.  If 25.0 g of iron(III) phosphate react with excess sodium

2 FePO4 + 3 Na2SO4 ( Fe2(SO4)3 + 2 Na3PO4
sulfate, how many grams of iron(III) sulfate can be made?

6A.  What mass of sodium hydroxide is made from 1.20 x 102 g of sodium oxide? 
Na2O + H2O ( 2 NaOH

6B.  How many grams of sodium oxide are required to produce 1.60 x 102 grams of sodium hydroxide?

7. A human needs about 120. grams of glucose (C6H12O6) per day. How many

grams of carbon dioxide are used by plants to produce this

6 CO2 + 6 H2O ( C6H12O6 + 6 O2
amount of glucose? 

